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@olving & Graphing lnequalitieg

Solve each inequality and graph the solution.
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Practice
Solving Two-Step and Multi-Step Inequalities

. Solve each inequality and graph the solutions. y i
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Write and solve an inequality for each problem. )
- 8. Afull-year membership to a gym costs $325 upfrorit with no monthly
charge. A monthly membership costs $100 upfront and $30 per month.
For what numbers of months is it fess expensive to have a monthly membership?
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: 2 Write and solve an inequality for each problem.
\TM 12. lan wants to promote his band on the Internet. Site A qffgr's website
& * " hosting for $4.95 per month with a $49.95 startup fee. Site B offers _
i \ebsite hosting for $9.95 per month with no startup fee. For how : - :
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